(M17ADOER
13 Ha0BiE 1 F£MIZE1T 517 A ORROTFGEZIKE T,

15 AT REBAMAERINERKTHD (82.6%) . 2FHAE INBLTEIMG1.IN) EHHTNS, BERIZI3HFH
BLE1ESTHLTWAREL17.6%THH, BEXTHETHE, ZFOEIDNBRIZDEVERIZHD, BRIZI3HAELE 15
HLTIS8E T, SHAICRE L, EUbITHERHBET (40.0%) EERTERT B F (43.5%) I2£0,

[13]
2 32 4 3 4
0 00 00 0
0 00 00 0
0 00 00 0]
0 00 00 0]
M =15 MA A
% xS % Bl
E ] bl El E
EEEH
2 636 é
L] 394 ‘{
ik 242 _‘
100% ,
HBEEE (2 55 |
HERR(ET) 20
HEEE (XF) 35
S (&) 67
S (ET) | 39
) ) S ] [ — | (e e — — T T ey e _
R (ZF) 42.9 303 i e 7 28
I S F ) [ iy i e ‘ 1
EERE (20 15.3 695 59
2.3
EFEW(BF) - : EEETE | 43
TEFFE (&F) I 6.2 16
29
EREEST (25) : : g 314 | 70
e e e e =) . ]
BERNESER (BT) 13.0 3911 = = e B 46
EFHESR (ZF) 37.5 542 3 24
I T R S BN S I e I
ERpEEER (2 34
| e [ e e e | e
ESHEREE (B 333 66.7 3
i (e D R S (| E [ I 23
EFAEESE (F) 54.8 388 a1
N RIS I S E— T e e |
TEM (&) 29.9 : 124 ; 241
R ) B e e e e |
TER(BF) 278 4619 13.6 : 191
e eee— R (e e ey R e i SR
TE (&) 38.0 540 8.0 50
e e e N SN SR — R— E——
SRR (2 R) 40.8 445 ' 14.6 110
B (RF) 38.5 44.2 o izs 52
B (&T) 431 448 121 58
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
— 16 —




(8)14 A miESEs
14 Hhat-014 A OREEIESTTH.

[&. EFRI T (15.8%) , HEHE T (14.6%) THB,

BEEAROPLEMRPEERBLTIND, OB, (675 FRE 1O RS DIE30.3%, [6FFLLE 10DBEN123%Tha, [85
FMELEIOSZH83E 1L, 9.3% THD, EERIADE, BAM L L IOEFEEZEEL, LYDTESENE TS (3284, ThlkSD

(E14)

E47
B
ik

HUE R (22 0F)
HEPEH(BF)

BEEM(&TF)

PR (2 4)

EEEET)

P ()

BB (245)

fEFEN (AT

R (XT)
EPENE R (&)

ESBERHE (BF)
EPHESH (XTF)

EREE R (2 4F)
EFEE R (BT
B EEER (ZF)

TR ()

TEHE(BTF)
TEAE (ZF)

BREEER (22 k)

WA (BT
BEAR (20 )

._17_

IV = T [ o)
80% 90% 100%

EIEEH
914

540

374

116
39

77
88
48
40
98
60
38
89

58

31

48

44
330

265
65

145

66
79




(9 ))Yilh&E1FEEOT i 3A HEER
R15 S-SR 1 SEMIZ7 L A ELELD,

128 AL (SHITREE) DETT L3 MERD DD, ERBELEDT L3 HERDBH DL (64.0%)

[E15]
E&EE
24F 916
Bik 542
ik 374
100%
PEEL (2H) 17
#EEE(BF) 40
___—____
M (T 86.0 77
- 7 1 1 1 {1 [ |
SREEIR (2 6) 77.0 a7
|
SR (BT 74.5 255 47
______— I
s (F) 80.0 20.0 40
] [ S R I ) Sy ]
B (2 83.7 08
(BT 60
FEFFEE (TF) 38
Eipif ERH (2F) | 36.0 ] 89
I 1
EXBERHE (BF) i 345 58
1
ESEERER (&F) 31
EH IR (26 48
ESNENREH (BT 4
ESEE R (F) 44
T (&) 332
TEH(ET) 267
T (&T) 16.9 65
MREER (&) 145
R (EF) 66
e (2 F) 45

_.18_

I
90%

100%




